
6710 6710.5 6711 6711.5 6712
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

182−

181.5−

181−

180.5−

180−us
l_

1X

usl_1X:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

21

21.5

22

22.5

23

us
l_

4a
Y

usl_4aY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

133.5

134

134.5

135

135.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

11.5

12

12.5

13

13.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

66.4−

66.2−

66−

65.8−

65.6−

65.4−

65.2−

65−

64.8−

64.6−

64.4−

64.2−

us
l_

12
X

usl_12X:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

196−

195.5−

195−

194.5−

194−

us
r_

1X

usr_1X:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

23.6

23.8

24

24.2

24.4

24.6

24.8

25

25.2

25.4

25.6

25.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

264.6

264.8

265

265.2

265.4

265.6

265.8

266

266.2

266.4

266.6

266.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

55−

54.5−

54−

53.5−

53−

us
r_

12
X

usr_12X:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

30177.5

30178

30178.5

30179

30179.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6298

6298.5

6299

6299.5

6300

us
l_

co
il3

usl_coil3:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6451.6

6451.8

6452

6452.2

6452.4

6452.6

6452.8

6453

6453.2

6453.4

6453.6

6453.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

1473.4−

1473.2−

1473−

1472.8−

1472.6−

1472.4−

1472.2−

1472−

1471.8−

1471.6−

1471.4−

1471.2−

us
l_

co
il6

usl_coil6:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

26523

26523.5

26524

26524.5

26525

us
l_

co
il7

usl_coil7:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

27263−

27262.5−

27262−

27261.5−

27261−

us
r_

co
il1

usr_coil1:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

5258.4−

5258.2−

5258−

5257.8−

5257.6−

5257.4−

5257.2−

5257−

5256.8−

5256.6−

5256.4−

5256.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

5009

5009.5

5010

5010.5

5011

us
r_

co
il4

usr_coil4:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

972−

971.5−

971−

970.5−

970−

us
r_

co
il6

usr_coil6:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

23617.6

23617.8

23618

23618.2

23618.4

23618.6

23618.8

23619

23619.2

23619.4

23619.6

23619.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

424.5−

424−

423.5−

423−

422.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

68.5−

68−

67.5−

67−

66.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

13.5

14

14.5

15

15.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

463.5−

463−

462.5−

462−

461.5−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

88.5−

88−

87.5−

87−

86.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

14

14.5

15

15.5

16

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

176.5

177

177.5

178

178.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

39.5

40

40.5

41

41.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

13.5−

13−

12.5−

12−

11.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

186.5

187

187.5

188

188.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

21−

20.5−

20−

19.5−

19−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

11.4−

11.2−

11−

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6637}



6710 6710.5 6711 6711.5 6712
cyclenum

238.5−

238−

237.5−

237−

236.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

88−

87.5−

87−

86.5−

86−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

9.6

9.8

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

423−

422.5−

422−

421.5−

421−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6637}

6710 6710.5 6711 6711.5 6712
cyclenum

6635

6635.5

6636

6636.5

6637

6637.5

6638

6638.5

6639

ru
n

run:cyclenum {run == 6637}
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